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पढना नहȣं सीखना है

A cone shaped storage tank’s height and radius are 9 and 7 
feet, respectively. Determine how much liquid the tank can 
contain.
एक शंकु के आकार के भंडारण ट§क कì ऊंचाई और िýºया øमशः 9 और 
7 फìट है। िनधाªåरत कर¤ िक ट§क म¤ िकतना तरल हो सकता है।
A. 471 
B. 450
C. 435.32
D. 461.58
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पढना नहȣं सीखना है

The ratio of the third proportional to 16 and 40 and the 
mean proportional between 10 and 40 is:
16 और 40 के िýितयानुपती और 10 और 40 के बीच मÅयानुपाती का 
अनुपात है:
A. 5:1 
B. 1:5
C. 4:1
D. 1:4
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पढना नहȣं सीखना है

If 𝟐 and 𝟏𝟐 𝟏𝟎 𝟖

𝟔 , a + b + c = ?
यिद 𝟐 और 𝟏𝟐 𝟏𝟎 𝟖

𝟔 तो a + b + c = ?
A. 7 
B. 8
C. 9
D. 6

SSC CPO 2020



Click to edit Master title style
Click to edit Master subtitle style

@mathsbyanjan
@mathsbyanjan

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

पढना नहȣं सीखना है

A man goes from place A to place B at a speed of 12 km/h 
and returned at a speed of 18 km/h, the average speed for 
the whole journey is:
एक Óयिĉ Öथान A से Öथान B तक 12 िकमी/घंटा कì गित से जाता है 
और 18 िकमी/घंटा कì गित से वापस आता है, पूरी याýा कì औसत गित 
है:
A. 16 km/h
B. 30 km/h
C. 14.4 km/h
D. 15 km/h
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पढना नहȣं सीखना है

Ravi buys salt at Rs.16 per kg and sells it at Rs.18 per kg. He 
also uses a weight of 900 gm instead of 1000 gm. What is 
Ravi’s actual profit percentage.
रिव 16 Łपये ÿित िकलोúाम पर नमक खरीदता है और 18 Łपये ÿित 
िकलोúाम पर बेचता है। वह 1000 úाम कì जगह 900 úाम का बाट भी 
इÖतेमाल करता है । रिव का वाÖतिवक लाभ ÿितशत ³या है?
A. 23%
B. 20%
C. 𝟏𝟏

𝟏𝟖
%

D. 25%
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पढना नहȣं सीखना है

What is the length of the longest rod that can be placed in a 
room of dimension 12 m, 9 m and 8 m?
सबसे लंबी छड़ कì लंबाई ³या है िजसे 12 मीटर, 9 मीटर और 8 मीटर 
आयाम वाले कमरे म¤ रखा जा सकता है?
A. 15
B. 17
C. 16
D. 14

SSC CPO 2020



Click to edit Master title style
Click to edit Master subtitle style

@mathsbyanjan
@mathsbyanjan

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan
@mathsbyanjan

पढना नहȣं सीखना है

The speeds of A and B are in the ratio 3:5. A takes 30 
minutes more than B to reach the destination. In how much 
time does A reach the destination?
A और B कì गित 3:5 के अनुपात म¤ है। A को गंतÓय तक पहòंचने म¤ B से 
30 िमनट अिधक लगते ह§। A गंतÓय पर िकतने समय म¤ पहòंचता है?
A. 1 h 15 min
B. 1 h 10 min
C. 1 h
D. 1 h 5 min
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पढना नहȣं सीखना है

A shopkeeper claims to sell his articles at Rs.20 per kg which 
cost him Rs.23 per kg. But while selling, he uses a false 
weight and gives only 800 gm instead of 1 kg. What is his 
profit percentage?
एक दुकानदार अपने सामान को 20 Łपये ÿित िकलोúाम पर बेचने का 
दावा करता है िजसकì लागत उसे 23 Łपये ÿित िकलोúाम होती है। 
लेिकन बेचते समय वह गलत वजन का इÖतेमाल करता है और 1 िकलो 
कì जगह 800 úाम वजन ही देता है। उसका लाभ ÿितशत ³या है?
A. 𝟏𝟕

𝟐𝟑
% B. 𝟏𝟔

𝟐𝟑
% C. 𝟏𝟒

𝟐𝟑
% D. 𝟏𝟓

𝟐𝟑
%
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पढना नहȣं सीखना है

If the 9 digit number 97x4562y8 is divisible by 88, what is the 
value of 𝟐 𝟐 for the smallest value of y, given that x 
and y are natural numbers?
यिद 9 अंकŌ कì सं́ या 97x4562y8 88 से िवभाºय है, तो y के सबसे 
छोटे मान के िलए 𝟐 𝟐 का मान ³या है, यह देखते हòए िक x और y 
ÿाकृितक सं´याए ंह§?
A. 64
B. 68
C. 76
D. 80
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पढना नहȣं सीखना है

A hall of 10 m length, 5 m width and 6 m height is to be 
painted (one side only). Determine the total surface area to 
be painted (Neglect the area of windows and doors. Floor 
area is not to be painted.)
10 मीटर लंबाई, 5 मीटर चौड़ाई और 6 मीटर ऊंचाई के एक हॉल को प¤ट 
िकया जाना है (केवल एक तरफ)। प¤ट िकए जाने वाले कुल सतह ±ेý का 
िनधाªरण कर¤ (िखड़िकयŌ और दरवाजŌ के ±ेý कì उपे±ा कर¤। फशª ±ेý 
को प¤ट नहé िकया जाना है।)
A. 300 𝟐

B. 280 𝟐

C. 330 𝟐

D. 230 𝟐
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पढना नहȣं सीखना है

Simplify:
सरल कìिजये:
cos (36 - A) cos (36 + A) + cos (54 - A) cos (54 + A)
A. cos 2A
B. sin 2A
C. cos 2A
D. sin A
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पढना नहȣं सीखना है

The average height of three kids is 56 cm and their heights 
are in the proportion of 7 : 8 : 9. Find the heights of all the 
three (in cm).
तीन ब¸चŌ कì औसत ऊंचाई 56 सेमी है और उनकì ऊंचाई 7: 8: 9 के 
अनुपात म¤ है। तीनŌ कì ऊंचाई (सेमी म¤) ²ात कर¤।
A. 42, 48, 54
B. 56, 64, 72
C. 35, 40, 45
D. 49, 56, 63
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पढना नहȣं सीखना है

P and Q can do piece of work in 14 days. Q and R together 
can do it in 21 days. If P is twice as good a workman as R, in 
how many days Q alone can do the work?
P और Q एक कायª को 14 िदनŌ म¤ पूरा कर सकते ह§। Q और R िमलकर 
इसे 21 िदनŌ म¤ कर सकते ह§। यिद P, R से दोगुनी द±ता से काम करने 
वाला Óयिĉ है, तो Q अकेले िकतने िदनŌ म¤ काम पूरा कर सकता है?
A. 42 days
B. 40 days
C. 35 days
D. 38 days
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पढना नहȣं सीखना है

Rajkumar decides to sell his watch at a discount of 5%. 
However, his brother purchases it from him and receives an 
8% discount. Raj loses Rs.45 in profit as a result of this. 
What was watch’s marked price?
राजकुमार ने अपनी घड़ी 5% कì छूट पर बेचने का फैसला िकया। 
हालाँिक, उसका भाई उससे इसे खरीदता है और उसे 8% कì छूट िमलती 
है। इसके पåरणामÖवłप राज को लाभ म¤ 45 Łपये कì हािन हòई। घड़ी का 
अंिकत मूÐय ³या था?
A. 42 days
B. 40 days
C. 35 days
D. 38 days
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पढना नहȣं सीखना है

A man spends 65% of his income. His income increases by 
20% and his expenditure also increases by 10%. The 
percentage of increase in his savings is:
एक आदमी अपनी आय का 65% खचª करता है। उसकì आय 20% बढ़ 
जाती है और उसका Óयय भी 10% बढ़ जाता है। उसकì बचत म¤ वृिĦ का 
ÿितशत है:
A. 38.5%
B. 35.8%
C. 10%
D. 20%
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पढना नहȣं सीखना है

If the arc of a circle of radius 30 cm has length of 19 cm, the 
angle (in degrees, rounded off to two decimal places) 
subtended at the center of the circle: (take 𝟐𝟐

𝟕
)

यिद 30 सेमी िýºया वाले व°ृ के चाप कì लबंाई 19 सेमी है, तो व°ृ के 
क¤ þ पर अंतåरत कोण (िडúी म¤, दो दशमलव ÖथानŌ तक पूणा«िकत): 
( 𝟐𝟐

𝟕
ल¤)

A. 51.25
B. 16.27
C. 36.27
D. 46.25
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Thank You
धÛयवाद 


